
RECTANGLES.  Given the perimeter, calculate the area.    Date:                    Name: 

Round to 2 d.p. if possible.                                                                                              http://www.learnersgrid.com 

[1]    Perimeter = 20 cm 

                                            AREA = 

 

 

 

 

 

 

 

[2]   Perimeter = 44 m 

                                            AREA = 

 

 

 

 

[3]    Perimeter = 24 mm 

                                            AREA = 

 

 

 

 

 

 

 

 

[4]   Perimeter = 70 mm 

                                            AREA = 

 

 

 

 

[5]    Perimeter = 35 m 

                                            AREA = 

 

 

 

 

 

 

 

 

 

[6]   Perimeter = 18 cm 

                                            AREA = 

 

 

 

 

[7]    Perimeter = 50.4 cm 

                                            AREA = 

 

 

 

 

 

 

 

 

[8]   Perimeter = 37.8 mm 

                                            AREA = 

 

 

 

 

[9]    Perimeter = 18.38 cm 

                                            AREA = 

 

 

 

 

 

 

 

 

[10]   Perimeter = 7.42 m 

                                            AREA = 

 

 

 

 

 

 

 

 

6 cm 

6.05 cm 

6.5 cm 



ANSWERS: RECTANGLES.  Given the perimeter, calculate the area.   
Round to 2 d.p. if possible. .                                                                                              http://www.learnersgrid.com 

[1]    Perimeter = 20 cm 

                                            AREA = 24 cm2 

 

 

 

 

 

 

 

[2]   Perimeter = 44 m 

                                            AREA = 105 m2 

 

 

 

 

[3]    Perimeter = 24 mm 

                                            AREA = 27 mm2
 

 

 

 

 

 

 

 

 

[4]   Perimeter = 70 mm 

                                            AREA = 250 mm2 

 

 

 

 

[5]    Perimeter = 35 m 

                                            AREA = 63.96 m2 

 

 

 

 

 

 

 

 

[6]   Perimeter = 18 cm 

                                            AREA = 16.25 cm2 

 

 

 

 

[7]    Perimeter = 50.4 cm 

                                            AREA = 10.2 cm2 

 

 

 

 

 

 

 

 

[8]   Perimeter = 37.8 mm 

                                            AREA = 13.65 mm2 

 

 

 

 

[9]    Perimeter = 18.38 cm 

                                            AREA = 3.14 cm2 

 

 

 

 

 

 

 

 

[10]   Perimeter = 7.42 m 

                                            AREA = 3.01 m2 

 

 

 

 

 

 

6 cm 

6.05 cm 

6.5 cm 


